TCC Full Training
[Li FT Report, FT)

1. Abort
(30,10,40)
k_XMISC_30
Ginni_TRM: 95
Ginni_WAL: 85
Ginni__FT:85

1. Abaort
(30,10,40)
k_AIC_40
Ginni_TRN: 91
Ginni_WAL: 87
Ginni__FT: 85

1. Abort
(30,10,40)
ard_AIC_40
Ginni_TRMN: 92
Ginni_WAL: 37
Ginni__FT: 83

Training
[Estim

Intercept:-G.11,-3.686)1
k_30_1(31.69.2.90)
k_30_11(-5.81,-3.02)
k_20_1(-20.82-2.34)
k_10_2(-4.14,-2.11)
k5 _37(-3.42,.2893)

Intercept-592.99,-4.10)
k_40_1(5148.85,.)
k_30_11(-1107.1..0
k_30_30(-1088.7,.)
k_20_1(-3593.0,.)
k_5_37(-325.29.-4.84)

Intercept-G125.2 - 144,42
2(8544.01,2.99)
=3(-10521 -45.62)
H174E5.5,.)
265919,
=12(-19513,.)
=A3(FEE4.73,)
=46(-19930,.)
=50(11938.4.5.41)
171147,
6720415 ,-14.72)
S223C3740.1,-4.84)
S2BOCEYT 28227
=346(-5425 5 -4.43)
ZIB0ETRE.72,.)
=2T(-7E734)

Intercepl:-4.43,-4.90)
k_30_1(4626.77
k_10_18(-1.98,-1.41)
k537155351

Intercepl-4.43,-4.68)
k_A0_174.69 6.6
k_10_180:-2.14,-1.39)
k_&_37(-162-352)

Intercept-1370.7 0.7
=1(1860.72,.)
23(-1931.7,-0.48)
119318,
2461.74,.)
1501707 A7 0.12)
=A7(-3249.7 -0.15)
=2B(2002.16,0.18)
=36(-1451.6,.)
=6(-2618.3,)
=48(-1973 .9,-0.08)
HE(2327 65,0.028)
=58(-1331.9,-0.08)
=124(-1052.6,.)

=47 (2327.80,)
=172(-2346.1,-0.07)
=192(1569.00,0.08)
=202(2194.99.0.11)
=304(-602.70,-0.07)
2246(-1101.2,-0.23)
=373(748.00,0.04)
=A03(720.56,0.08)

TRN:(100,100 55)
YAL{100,81,81)
FT:(100,80,75)

TRN:57 87,100
WAL50,100,10
FT:25.92.98)

TRN:(100,100,400) | TRH100 100, 1
YALLTA, 71T WAL(100,100,1
FT.(100,80,53) FT:(22 88,100

TRN:100,100,1007 | TRM:(37,100,10
VAL 44,49) WAL740,40,40)
FT:(100,1001000 | FT:78.100,100



™

™

BT 0 [

2. Auzschabung
0413
k_XERROR_1
Ginni_TRM: 95
Ginni_\AL: 93
Ginni__FT: 85

2. Auszchabung
9,4,13)
k_XERROR_20
Ginni_TRM: 0
Ginni_WAL: 0
Ginni__FT: 84

2. Ausschabunyg
9.4.13)
k_XERROR_1
Ginni_TRN: 95
Ginni_WAL: 93
Ginni__FT. 85

Intercept-G.79,-3.26)
k_1_2(F.256282)

Intercept:-2.38,-6.82)

Intercept-G.79,-3.26)
k_1_207.25282)

Intercept-G.58,-3.87)
k_1_209.44,3.46)

Intercepl-26.02 -1 .56
k_20_2(22.48 157

Intercept-G.93,-3.87)
k_1_209.44.3.46)

TRM:100,100,321 | TRM:38,89,100
YAL100,100,1007 UAL:(1DEI.1DD.1J
FT:(100,57.571 F 759,100,100

TRN:{5.5.8) TRN:100,100,1
VALT11,11,11) WAL100,100,1
FT:(100,93.83) FT:85,100,100°

TRN:00,400,527 | TRH:20,80,100
WALPIO0, 00,1007 | WAL(100,100,1
FT:(100,57 573 FT:69,100,100



|

3. Clomifen
(18,7 ,26)
k_AIC_10
Ginni_TRMN: 95
Ginni_WAL: 94
Ginni__FT: 85

3. Clomifen
(18,7,26)
svd_AMISC_40
Ginni_TRN: 94
Ginni_WAL: 71
Ginni__FT:83

3. Clomifen
(19,7 ,26)
k_*ERROR_1
Ginni_TRN: 95
Ginni_WAL: 91
Ginni__FT:85

Intercept-15.63,-1.69)
k_&_30(-10.70,-1.53)
k_1_3(40.83,1.60)
k_1_12(-19.87 -1.42)

Intercept-386.62,-0.60)
10(-1041 .5,-0.24)
=18(1262.04,.)
=21(688.00,.)
#3(951.03,0.19)
=2901794.53,0.71)
103(-1039.4,-0.12)
361641 3,021)
259(-621.81,-0.54)
Z321(596.41,0.44
£3690354.24,0.15)
A82(-776.11,-0.29)

Intercept:-16.55,-2.85)
k_1_3(16.91,2.82)
k1 _8(-28.72,.228)

Intercept-3.82,3.70)
k_2_3(14.732.85)
k_1_36(-7 64-1.37)

Intercepl-G50.17 .-1.53)
=10(-1325.0,-0.47)
=A7(1011.35,)
21(2374.40,.)
=23(-1202 5,-0.56)
240112870,
TE(M1977.89,1.26)
SHIM820.77 014
=12101536.97 )
=166(-1230.1,-0.90)
=AT4-1051.2,-0.46)
223208520 0.44)
=27A(466.00,.)
=321(431.89,0.19)
=A82(-525 69.-0.14)
=494(-244 88 -0.17)

Intercep-9.39,-3.51)
k_1_3(16.01,3.16)
k_1_36(-6.30,-1.44

TRN(100,85860 | TRMx79.95.100_]
YALT100,100,1000 | WAL(100,100,1
FT:(100,96.65) FT:81,92,1000

TRN:{100,100,1007 | TRM:79,100,10
VALI2524.21) WALT43.71,86)
FT:(100,100400) | FT:(400,100,401

TRN{100,100 661 | TRH:78,88,100
VALTIOOEE 86 WAL(43,56,88)
F (100,86, 710 FT73 82,100



4, Eileiter Intercepti-15.29 -0.611 Intercepti-111.76,9.28)  TRN:(100,100,100) | TRHx100,100,1

(12.4,16) k_30_4(17.55,0.22) b_30_4i227 .92, WALGT00, 00,4000 WALC00,100,1
k_SBC_30 k_20_37(-11.39,0.17) b_30_37-172.85,) FT:(100,100,100) FT:(100,100,10
Ginni_TRN: 95

Ginni_WAL: 94

Ginni__FT: 81 J
4, Eileiter Intercept-15.28-0.61) Intercept-111.76,-9.280  TRM:(100,100,100) | TRN:{100,100,1
(12.4,18) k_20_4{17 55,022 k_20_4¢z27 82,) WALG100,400,400)  WAL.(100,100,1
k_SBC_30 k_20_37(-11.39,-0.17) b_30_37-17T2.86,.) FT:(100,100,100) FT:(100,100,10
Ginni_TRN: 95

Ginni_WAL: 94

Ginni__FT:81

4. Eileiter Intercept-15.28 -0.61) Intercept-111.76,9.28)  TRN:(100,100,100) | TRH:{100,100,
(12.4,16) k_30_4(17.585,0.22) k_30_40227 92, WALGT00,100,1000  WAL:(100,100,1
k_SBC_30 k_20_37(-11.39,-0.17) b_30_37-172.85,.) FT:(100,100,100) FT:(400,100,10
Ginni_TRN: 95

Ginni_WAL: 94

Ginni__FT:84



4. Eileiterprifung Intercept-2.57,-2.78)

(14.5.19) k_1_505.31,3.59)
k_XERROR_1 k_1_37(-387-280)
Ginni_TRMN: 94

Ginni_WAL: 94

Ginni__FT: 84

4. Eileiterprifung Intercept-2.57,-2.79)

(14,5,19) k_1_55.31,3.59)
k_XERROR_1 k_1_37(-387.-280)
Ginni_TRM: 94

Ginni_WAL: 94

Ginni__FT: 84

. Eileiterprifung Intercept-2144.2,-29.13)

{14.5.19) (47308 0.77)
sed_XMISC_40 £25(5838.32,2.07)
Ginni_TRN: 92 TFAT1205.)
Ginni_WAL 18 170014406, )
Ginni__FT: 93 $152(10596.8..)

2 16(14266.3..)
SPECTARZE.)

Intercepl-2.74,-3.18)
k_1_5(5.50,2.84)
k_1_37(-4.24-3.23)

Intercepl-2.74,-3.18)
k_1_5(5.59,3.84)
k_1_37(-424.-323)

Intercepl-206.25,-0.02)
=2(-531.53,-0.00)
=H-831.30,)
=25(566.72,0.02)
=39(-454.00,-0.01)
=A700-854.27 )
=A77(-602.13,-001)
=182(696.56,.)
21184 75,011
=216(614.51,0.01)

TRN{100,87,57) | TRM:{S7 93,83)
YALT100,100,1000 | WAL(100,100,1
FT:(100,59.521 FT:i65,59.95)
TRN:{10057.87) | TRNA57 93.83)
VALT100,100,100) | WAL(100,100,1
FT:(100,29.82 FT:62,59.95)

TRN:100,100,100)
VALI25,25.25)
FT:(100,100,100)

TRH100,100,1
WAL 20,200
FT:85,100,100°



e =

UL SRy
(60,21,21)
pc_SBC_ 40
Ginni_TRM: 94
Ginni_WAL: 895
Ginni__FT: 95

&. Eizprung
50,21,81)
srd_XMISC_40
Ginni_TRN: 92
Ginni_tALl: 50
Ginni__FT:93

&. Eizprung
(50,21,81)
k_SBC_20
Ginni_TRN: 932
Ginni_YAL: 94
Ginni_ FT: 94

LRGP -0 -2 )
pC_G_1(2.246.35)
pC_B_2(-9.13.-5.10)
pC_G_3011.44.3 .52
pC_B_7019.61,2.50)
pC_20_3(-5.97.-4.19)
pC_26_1¢0.61.-3 51)
pC_25_2(5.98,3.14)
pC_30_B(-11.95,.3.22)
pC_35_S(12 242 52)

Interceph-4545.9,-0.82)
2(15767.7,0.40
s1(18677.2,0.34)
S18(-7433.3,-0.22)
26(-5812.2..)
s28(4780.62,0.12)
=H(3484.42,.)
=A6(-9292.1,.)
SHIABTIT T
SHOETIS22,)
SHH-6337.7.0
HF-7900.9,0
=BB(12607.8,0.55)
=106{12969.4,0.13)
s1390-7TATE 6,
s163010098.5,.)
=185(-12020,-0.02)
=188(-10934,.)
S207(-6519.8,)
2173796 .37 0.05)
s225(-10069 -0.16)
24102438 .18,0.08)
S2AG(-3010.7,.)
25903756 .87,
3071697 .5,
F330(2359.89, )
3454701,
SEETE1ZTT.)
SFAT2304.44.0.12)
S3R8(-3325.8.-0.06)
A0T-4227 8,0
=425(-4891.1,-0.21)
AG957E9 .33,
=A82010451.4,.)
Q24045 .2, )

Interceph-2.325,-5.10)
k_30_G(10.58 6.30)
k_10_348(-1.00,-2.60)
k_5_3801.57 267
k_2 B-2.12,-4.92)

HILE IR T -2y )
pC_6_1(2.40,7.12)
pC_6_2-10.10,-6.13)
pC_G_7011.81.4.00)
pC_G_7(32.13,9.19)
pC_14_7(3360.3.07)
pC_16_5(-1062.-2 95
pC_20_3(-4.3%,-3.69)
pC_26_1(0.50,-3.85)
pC_28_2(4.52.2 68)

Intercept-7.11,-9.06)
2(21.34,7.22)
=3(-12.59,-9.18)
=11(19.56 5.79)
=1H-14.98,-4.97)
=26(-11.52,-4.22)
=4009.12,2.85)
53(12.82,4.03)
£HH-8.44,-2.99)
£H7(-13.01,-2.99)
=38(12 68 ,2.87)
=20(-8.19,-2.91)
=106{11.65,3.40)
121010.76,2.93)
=139(-12 .54,-3.63)
=165(15.21,4.36)
=198(-16.08,-2.01)
=216{12.06,3.01)
=225(-10.20,-2.91)
s227(-9.64,-2.55)
s24106.28,3.94)
s262(-5.23,-2.20)
3307 .03,2.83)
ST 21,295
=394-5.59,-3.22)
=42106.29,2.03)
A25(-6.85,-3.31)
82012 34,4.86)

Intercept-2.14,-4.80)
k_30_G(11.20,7.07)
k_20_26(-1.53,-2.75)
k_20_240-086,-2.57)
k 5 _12(-1.52,-2.65)
k_5_38(1.72,3.62)
k_2_6(-7 66 ,-3.91)

[RaTERIRLELE R == i}
WAL(100,80 55)
FT:(100,87.72)

TRN:{400,400,100)
WALEIE, 38,36
FT:(100,78.67)

TRN:{100,73,44)
VAL100 26 26)
FT(100,57 551

RO o B T
WALG2,26,100
FT:62,80.94)

1

TRH100,400,4
WAL(ST 57 57
FT:(28,8591)

TRHE0,82 85)
yaL:gE2,80,80)
FT:(52.75.95)



L

7. Endometrioze
8,3.11)
k_*ERROR_10
Ginni_TRN: 94
Ginni_WwAL: 91
Ginni__FT: 84

7. Endometriose
8.3.111
avd_XMISC_d0
Ginni_TRM: 83
Ginni_WAL: B8
Ginni__FT: 80

T. Endometrioze
8,3,11)
k_¥*ERROR_10
Ginni_TRN: 94
Ginni_WAL: 91
Ginni__FT: 84

Intercept-5.31,-4.08)

k_1_7(2.43 320

Intercept-0.46,-2 2687

£i(51.23.2.02)
H6(33.98,2.27)
STE(-53.26 -1.80)

Intercept-56.31,-4.08)

k_1_7(2.43 3200

Intercept-5.47 -4.64)
k_1_T(2.354.14)

Intercepl-4.39,-4.84)
516.30,2.04)
(26 54,2 .90)
BAZE.74.2 .68)

Intercepl-5.47 464
k_1_T(2.35.4.14)

TRN:{100,50,20)
VALT100,75,75)
FT:(100,53.73)

TRN:{100,56,53)
VALIZE 23 23)
FT:(100,50,42)

TRN:{100,50,30)
VALT100,75,75)
FT:(100,23.73

Fy
TRM:(E2,100,10
WALI33,100,10
FT:(55.91,100)

/

TRM:(E2,75,100
WAL:100,100,1
FT:09.73.81)

TRM:EZ,100,10
YALI(E3,100,10
FT:(55.91,100)



i

2. Emihrung
5.39)
k_XMISC_1
Ginni_TRM: 95
Ginni_\WAL: 92
Ginni__FT:85

2. Emihrung
534
k_XERROR_10
Ginni_TRM: 0
Ginni_WAL: o
Ginni__FT: 82

2. Emihrung
5.29)
k_*MISC_1
Ginni_THN: 95
Ginni_WAL: 82
Ginni__FT: 85

Intercept-5.32,-2.0:2)
k_1_8(22.745,1.35)

Intercept:-2.41,-5.68)

Intercept-5.32,-2.0:2)
k_1_822.746,1.25)

Intercept-5.49,-2.08)
k_1_8(23.65,1.38)

Intercepl-26.42,-032)
k_2_8(113.27.027

Intercept-5.49,-2.08)
k_1_8(23.62,1.28)

TRN:100,100,67) | TRM:(33,83,100
VALT100,100,1007 | WAL(100,100,1
FT:(100,10075) | FT:29,89,100)

/

TRN:E.5.8) TRH:100,100,1
VALT1Z,12.12) WAL00,100,1
FT:(100,100100) | FT:¢400,400,401

TRN:100,100,67) | TRM:(33,83,100
YALT00,100,1007 | WAL(100,100,1
FT:(100,100751 | FT:89,89,100)



S LS

9. Gelblirperschiche
(18.7.28)

pe_SBC_40
Ginni_TRN: 95
Ginni_WAL: 94
Ginni__FT:83

9. Gelblirpemchwdche
(18.7.29)
avd_xMISC_40
Ginni_THM: 93
Ginni_WAL: 82
Ginni__FT: 82

9. Gelbkirperschniche
(187,28
k_XERROR_1
Ginni_TRN: 95
Ginni_WAL: 94
Ginni__FT: 84

Intercept-16.10,-1.67)
pC_ 9 1284173
pC_29_4(39.30,1.53)

Intercept-533.73,-0.52)
s2(2149.29.)
=TE0.25.)
217740
=A5(:614.91,-0.04)
SH-1799.9,.)
TE(-2467 7.0
=162(-1634.8,-0.02)
1822807 .50,0.04)
193203444,

Intercept-4.31,-2. 8231
k_1_908.47 3 65)
k_1_37(-267-183)

Intercep-563.10,-0.800
pC_4_422091,0.75)
pC_8_1011.147,0.78)
pC_18_2(-14.91,-0.96)

Intercept-3104.2,-4.19)
2126338,
66205,

A 48420.24,0.11)
Z3(-6344.1,.)
=A2ETE6.92,.)
H0(-20964.4,.)
sTE(-7458 .2,
=A04-10482,.)

= 0(E42.84,.)
182(77E7.80,0.08)

Intercept-3.70,-4.01)
k190626 ,4.61)
k_1_38(-3.75-25%)

TRN:{100,95,95)
YAL{100,85,82)
F T:(100,96,85)

TRN:{100,95,95)
VALT45.45,30)
F T:(100,96,85)

TRN:100,94,64)
VALT100,55,58)
FT:(100,92.82)

TRN:72.100,10
WAL56,100,10
FT82,100,100

/

TRM:53.100,10
WAL(T1,71,100
FT82,100,100°

TRM:72.94,100
WAL{T1,100,10
FT:184.96,96)



10. Geschlechtsvakehr
(104,14

h_AIG_1
Ginni_TRH: 92
Ginni_WAL: 84
Ginni__FT:83

10. Geszchlechtzvedehr
(104,14
k_XERROR_1
Ginni_TRM: 0
Ginni_WAL: 0
Ginni__FT:83

10. Gezchlechtzvatehr
(10,419

k_AIC_1
Ginni_TRN: 92
Ginni_WAL: 94
Ginni__FT:83

Intercept-4H.80,-0.24)
k_1_10(71.000:21)

Intercept:-2.35,-7.11)

Intercept-44.80,-0.24)
k_1_10(71.09031)

Intercepl-41.30,-1.000
k_1_10021.32,080)

Intercepl-41.30,-1.000
k_1_10(81.32.089)

Intercept-41.30,-1.000
k_1_10(81.32.0899)

TRN:100,100,100)
YAL100,100,1007
FT:(100,93.83)

TRN:8.8.8)
YAL{10,10,10)
FT:(100,93.83)

TRN:(100,100,10)
WALA00 100, 100)
FT.(100,83,93)

TRN:100,100,1
WAL00,100,1
FT:83,100,100°

TRH:(100,100,1
WAL:(100,100,1

FT:93,100,100

TRH100,100,1
WAL(100,100,1
FT:(93,100,100



S

11. Habituell
(112517
k_XERROR_20
Ginni_TRMN: 94
Ginni_WAL: 94
Ginni__FT:85

11. Habituell
(124517
avd_xMISC_40
Ginni_TRN: 95
Ginni_WAL: 80
Ginni__FT: 85

11. Habituell
(12517
k_AIC_1
Ginni_THN: 95
Ginni_WAL: 93
Ginni__FT: 85

Intercept:-7.04,-4.01)
b 20_11(3.88,3.51)

Intercept-31.07.-1.71)
Z3(-269.71,-1.73)
=21(115.53,1.65)

=1 28(758.68,1.99)
I64-199.87 -1.67)

Intercept-12.45,-1.42)
k111027 .28,1.28)
k_1_38(-17 48.-1.20)

Intercept-g.04,-4.20)
k_10_11(4.69,2.82)

Intercepl-35.23,-1.88)
ZH-2T73.72,-1.54)
=20(-100.41,-1.58)
=23(-111.62,-1.59)
=029 .60,1.59)
=A70(-125.30,-1.55)
196181 68,1.58)

Intercepl-12.45,-1.42)
k_1_11327.28.1.20)
k_1_38(-17.48,-1.20)

TRN:(100,100 55
WALLA00,100,100)
FT.(100,84,50)

TRN:{100,100,75)
VALTE0,50,28)
FT:(100,39,29)

TRN:100,100,38)
YAL100,100,1007
FT:(100,100,58)

TRHE3,22,100
WAL(100,100,1
FT:(52,85,100)

TRN:(BS.QZJDEIJ
WAL:(ED,G0,100

FT:(74,100,100

TRM:53,92,100
WAL00,100,1
FT:52.94,1001



12. Hormone
(27 9,38)
k_SBC_40
Ginni_TRN: 85
Ginni_WAL: 93
Ginni__FT: 85

12. Hormone
(27 .8,26)
h_XMISC_10
Ginni_TRH: 91
Ginni_WAL: B2
Ginni__FT:83

12. Hormone
(27.8.36)
k_SBC_10
Ginni_TRN: 93
Ginni_WAL: 88
Ginni__FT: 83

Intercept-4.99,-1.63)
k_40_12(16.22,2.23)
k_20_35(-3.14,-2.12)
k_20_37(-54.00,-1.89)
k_10_37(47 .60,1.79)

Intercept-G21.28,-2 63)
k_10_6(-677.24,)
k_10_12(2147 .10,
k_10_18(-1189.6,-9.44)
k_10_38(-887.30,.)
k_5_30(-1151.6,-2.49)
k_&_35(-207.89,.)

Intercept-79.50,-0.40)
k_10_6(-60.50,-0.37)

k_10_12(197.441,0.34)
k_10_35(175.68,0.25)
k_10_38(-87 .25,-0.32)
k_&_36(-259.34,-0.26)
k_2_30(-131.40,-0.33)

Intercept-9.84,-2.61)
k_40_12(65.04,2 94
k_30_336.55 281
k_20_6(-3.81-267)
k_20_12(-50.87 -2.83)
k_20_22-10.88,2.52)

Intercept-5.33,-4.57)
k_10_12(7 A8 5 66)
k_10_21¢:1.20,-1.77)
k_10_33(2.89 343
k_2_G(-2.40,-2.89)
k_2_22(-388-307

Intercep-4.49,-4.72)
k_10_12(7 .10 5.88)
k_10_33(3.45 407
k_2_6(-2.08,-2.86)
k_2_22(-369.-3.13)

TRN:10096,520  TRN:S8.85.100
VALTID0 7543 | WAL(44.78.100
FT:(100,85.561 FT:8197.1001

VALIE3.60,60) WAL{S6,67.67)

TRN:{100,100,100) TRN:(gs.mn,mJ
FT:(100,59.54) FT:61,56.94)

TRE:(100,100,100) | TRH:(96,100,10
VAL(IOD 787 | WAL@4.7.78)
FT:(100,86 56) FT:(52.82.04)



13. Insemination Intercept-3.89,-3.900 Intercepl-18.70,-2.06) TRN:(100,87,81) TRM:52,95,100

(21.8.28) k_1_13(0.87 384 k_1_13(32.58 2.0 WAL:100,100,100) | WAL(100,100,1
k_XERROR_1 k_1_ 377321790 FT:(100,97 87 FT:(86,100,100
Ginni_TRM: 95
Ginni_WAL: 94
Ginni__FT:85
13. Insemination Intercept-1420.5,-3.85) Intercep-1045.8,-2.08) TRHK:(100,100, 1007 TRN:(1DD.1DD.1J
(21.8.29) H(-6389.6,-0.42) H-2494.8,.) WAL:SE .57 5T WAL:(EBE,100,10
avd_xMISC_40 =1T(6562.10,.) =A7(4487 26, FT:(100,100,100) FT:(86,100,100°
Ginni_TRMN: 92 HBGEEE2.7T.) =20(2583.10,0.23)
Ginni_WAL: 85 5(4751.96,1.85) H2(3362.30,0.20)
Ginni__FT: 83 =89(-6250.4,.) H3-1554.3,0.13)
=1 18(5857 87 0ET) #H1(1964.15,.)
=189(6472.06,.) 0(-3101.8,-0.68)
2481(-1364.9,-0.62) =103(4008.38,.)
=A48902461.29,.) =110(4820.88 0.54)
=A16(2923.71032)
=A7H1728.959.022)

3A0(-1179 6,-0.46)

13. Insemination Intercept-2.89,-3.9070 Intercep-18.70,-2.06) TRH:(100,87,81) TRM:x52 95,100
(21.8.29) k_1_13(8.87 384 k_1_13(32.58 2.0%) WALM00,100,100) | WAL(00,100,1
k_XERROR_1 k_1_ 377321790 FT:(100,97 87 FT:(86,100,100°
Ginni_TRN: 95
Ginni_WAL: 94

Ginni__FT: 85



T

14, Iuf
(F6,26,102)
pc_*ERROR_40
Ginni_TRN: 95
Ginni_WAL: 93
Ginni__FT: 85

14, uf
(F6,26,102)
avd_xMISC_40
Ginni_TRMN: 91
Ginni_WAL: 44
Ginni__FT: 84

Intercept-25.75,-3.900
pC_6_F-112.28,-3.36)
pC_7_B(39.74,3.08)
pC_7_7061.32,2.84)
pC_14_ 18 48,380
pC_14_2{-21.54.-3.99)
pC_16_1(-1.77,-3.07)
pC_31_2(-14.18 -3 .568)
pC_32_1(-1.30,-2.87)

Intercept-4285.1,-2.40)

S2(9851.2, 29 10832..)

ST(-12565, )
S(11074.1,2.98)
S15(-6500.1,-1.33)
A2ESZ A1)
#EFA12.13.)
HE(-4708.5,-0.30)
STT(-4350.2,0.25)
SHA(2655.5.)
13005942 54, )

~ARAMANTTO AN AT

Intercepl-23 .66 ,-4.35)
pC_&_7(-66.80,-3.36)
pC_14_1(7 29,4.29)
pC_14_2(-23.56 -4.09)
pC_14_ 657 99,3.28)
pC_16_1{-0.80,-2.83)
pC_17_4(16.40,2.99)
pC_18_4(10.42.2.43)
pC_24_F(28.02,2.33)
pC_28_&(28.65,2.28)
pC_31_2(-11.85,-3.84)
pC_32_1(-1.54,-3.42)
pC_32_&(16.82,2.17)

Intercept-19.44,-6 358)
2047 31 6.11)
=H-21.21,-4.24)
H(-2292,-4.23)
H-39.15,-5.19)
-34.03,-521)
=H42.90,5.55)
=12(38 .56 4.76)
22(-31.76,-5.36)
23019 .67 3.82)
=45(40.76,5.10)

A Td AR D On

TRN:{100,99.54)
VAL 100,85,54)
FT:(100,93.83)

TRN:100,100,100)
VALT50,50,50)
FT:(100,35,84)

TRH54,92,100
WAL(S9,81,100
FT:(84,100,100

TRM:100,100,1
WAL{54.54,54)
FT:20,95,99)



SN
NN

18, Kosten
(18,7.25)
k_*ERROR_1
Ginni_TRMN: 95
Ginni_wAL: 94
Ginni__FT: 85

15, Kosten
(18,7.29)
k_¥ERROR_1
Ginni_TRN: 95
Ginni_WAL: 94
Ginni__FT: 85

15, Kosten
(18,7.25)
k_*ERROFR_1
Ginni_TRN: 95
Ginni_WAL: 94
Ginni__FT. 85

Intercept-2.92,-1.400
k_1_15(3.93,3.09)
k_1_33(5.87,1.18)

Intercept-2.92,-1.400
k_1_15(2.93,3.09)
k_1_33(5.87,1.18)

Intercept(-2.52,-1.40)
k_1_18(2.93,3.09)
k_1_23(5.87.1.18)

Intercep-2.25,-1.31)
k_1_15(4.11,3.41
k_1_33(6.37,1.46)

Intercepl-2.25,-1.31)
k_1_15(4.11,2.41
k_1_33(6.37.1.46)

Intercept-2.25,1.31)
k_1_18(4.11,3.41)
k_1_23(5.27.1.40)

TRM:100,100,907
YAL100,100,100)
FT:(100,93.83)

TRN:{100,100,907
YAL100,100,100
FT:(100,93.83)

TRN:100,100,30
YAL100,100,1007
FT:(100,93.83)

TRN:23.94.1004 ]
WAL100,100,1
FT:92,100,100°

TRN:53.94,100
WAL00,100,1
FT:92,100,100

T RN:(83.94.1EIEIJ
WAL:(100,100,1

FT82,100,100



S

|

16. Kryotransfer
8.4.13)
k_XERROR_1
Zinni_TRMN: 95
Ginni_WAL: 82
Ginni__FT: 85

16. Kryotransfer
38,4,13)
k_*ERROR_10
Ginni_TRH: 0
Ginni_WAL: 0
Ginni__FT: 85

16. Kryotransfer
8,413
k_XERROR_1
Ginni_TRMN: 95
Ginni_WAL: 82
Ginni__FT: 85

Intercepti-14.24.-1.131 Intercepti-7.87 -5.201 TRN:{100,90,90)
k_1_16(14.69,1.05) k_1_16(2.07 2.43) YALT100,100,67)
FT:(100,92.55)

Intercept-2.38,-6.82) Intercept-7.81,-3.40) TRH:(2.5.8)
k_2_ 16746261 WAL, 11,110
FT:(100,100,88)

Intercepti-14.24.-1.131 Intercepti-7.87 -5.201 TRN:{100,90,901
k_1_16(14.69,1.05) k_1_16(2.07 2.43) YAL{100,100,67)
FT:(100,92.65)

TRHN:(59,100,10
WAL(TS,75,100
FT:25.82,1001

TRM:100,100,1
WAL00,100,1
FT82 52,1001

TRNz58,100,10
WAL(TE, 75,100
FT:85.92,100



;

17. Medikamente
[35,12,47
k_SBC_20
Ginni_TRH: 94
Ginni_WAL: 85
Ginni__FT: 85

17. Medikamente
(35,12.47)
svd_xMISC_40
Ginni_TRN: 93
Ginni_WAL: 0
Ginni__FT:85

17. Medikamente
(356,12,47)
k_SBC_2
Ginni_TRN: 94
Ginni_WAL: 83
Ginni__FT: 80

Intercept-3.58,-3.92)
k_30_17(18.29.4.44)
b 20_32(-312-1.64
k_&_A7(-14.42 -3.68)
k_&_37(-1.79,.2.80)

Intercept-2366.0,-62.27)

10044028,
13473747,
20041383,
S2A(-F064.5,-10.96)
£34(-6520.0,-3.03)
S7(7302.4,)
F5(5002.25,3.70)
S4(-3306.4.-1.85)
1100147811 53)
£142(8398 5.
£14404444 1, )
S1TB(2E5.32,.)
S179010752.7..)
2ER(2126.8.)
22354044.42.8.51)
£304(1075.80.,.)
£364(-1961 2 -4.05)
£365(-4645.9,.)
£370ZTE0.43,.)
20147440,
+#HB(3507 65.7.23)

Intercept:-1.55,-1.95)
k_2_17(21.08 4.54)
k_2_20(-7.09.2.41)
k2 210-3.21,2.13)
k_2_33(1.852.30)
k2 37271329
k1 17(-22.86,-3.79)
k_1_19(-7T82,.307)

Intercept-G.91,-4.35)
k_30_17(35.01.4.24)
k_20_7(-2.69.-2.00)

k_20_24(-6.00,-2 68)
k_10_31(-2.38,2.72)
k_8_17(-27.85,-3.83)
k_5_28(-7.06-3.48)

Intercepl-22.43,-4.38)

1(26.40,2.59)
(27 52.407)
£10(-44.03,-3.06)
£11(29.77 3.35)
£16(-24.35,-2.57)
£19(44.31,3.89)
221(-30.43,-2.78)
#45(20.853.11)
FA(-42.50,-3.68)
SH6(26.26 3.37)
STO(-27.78.-3.56)
S123(36.30,2.27)
£130(37 .40,3.75)
£144(-20.59,-2.83)
£154-24.90,-2.77)
$161(27.33.3.35)
£1B5(-23.85,-2.50)
£179(43.26,2.81)
£185(-33.59,-3.42)
£200(-32 B3.-3.52)
220032 43.-3.28)
£220(-24.78,-3.02)
S23B(12.06,2.71)
S258(18.73,3.00)
20422 80,-3.37)
£303(-9.72,-2.55)
£301(-20.30,-3.73)
0512 .85.2.82)
#6432 43.-4.28)
4052431 -3.89)

Intercept-3.40,-6.03)
k_2_17(6.78,7.58)
k_2_33(1.863.73)
k_1_90-3.18,-2.417
k_1_20(-2.70-182)

TRN(1007268) | TRN:(B2.0407)
VAL(IOD 82920 | WAL(ES3, 100,10
FT:(100,82,92) FT(72.88.95)

TRN:{100,100,1007 | TRN:100,100,1
YaL,8,8) WAL00,100,1
FT:(100,93.72) FT:i62.57.94)

TRN:{10074.54) | TRH:49.53.84)
VALTIDDE9 800 | WALIES.A7.6T)
FT:(100,94.43) FT:143 56,571



/

i

18. Mehrlinge
5,27
k_SBC_1
Ginni_TRMN: 93
Ginni_WAL: 93
Ginni__FT: 82

18. Mehrlinge
5.2,7)

k_*XERROR_1
Ginni_TRH: 0
Ginni_WAL: 0
Ginni__FT:0

18. Mehrlinge
5,27
=yd_*ERROR_40
Ginni_TRMN: 92
Ginni_WAL: 68
Ginni__FT: 83

Intercept-24.12,-0.08)
k_1_18(24.27 0113

Intercept-2.34,-5.007

Intercept:-5.75,-2 821
#£5(-38.28,-2.46)
=144(-41.85,-2.48)

Intercep-G7.47,-0.01)
k_1_18(63.83.001

Intercept-2.30,-5.81)

Intercepl-10.23,-2 300
H0FE.31,2.01)
SH1ES.37.2.11)

TRN:(100,100,100)  TRMH:100,100,1
WALI00,100,100) | WALC100,100,1
FT:(100,100,100) FT:(100,100,100

TRN:{2.8.8) TRM:100,100,1
YALT10,10,10) WAL00,100,1
FT:8.5.9) F 700,100,101

TRN:(100,50,45) TRN:(4EI.8EI.1DEIJ
YAL{00 100,007 | VAL(50,50,50)
FT.I00A0058) | FTA57.71,100)



19. Menstruation
(26,9,39)
k_*ERROR_10
Ginni_TRN: 95
Ginni_WAL: 95
Ginni__FT:85

19. Menstruation
(26,9,35)
k_SBC_30
Ginni_TRN: 92
Ginni_WAL: 90
Ginni__FT: 85

18. Menstruation
[26,9,25)
k_*ERROR_1
Ginni_TRH: 91
Ginni_WAL: 80
Ginni__FT:83

Intercept-2 86,2131
k_10_19(33.05,2.89)
k_10_30(-10.70,-2.88)
k_&_26(-7.50,-2.36)
k_2_ G2 67 2.28)
k_1_19(-14.00,-2.17)

Intercepti23.26,0.0070
k_30_19(487 .75,
k_5_26(-219.25,-0.02)
k & _31(-82.78.-0.12)
kG 330690001

Intercept-1.23,-1.75)
k_1_30-403,2.27
k_1_6(1.15.2.00)
k_1_19015 61 4.76)
k_1_26(-582.299)
k_1_37(-321,362)

Intercept-1.79,-2.10)
k_10_19018.15,4.65)
k_10_300-6.36,-3.42)
k_1_3-6.41,-2.42)
k_1_26(-6.95-3.49)

Intercepl-2.56,-1.72)
k_30_19047 69,1 .60)
k_20_3(-13.27,-1.33)
k_20_10013.18,1.50)
k_G_26(-21.08,-1.36)
k_1_31(-11.29,-1 65)

Intercepl:-2.61,-3.64
k_1_30C6.47-2.78)
k_1_G(1.16.2.17)
k_1_110-4.62.-2.08)
k_1_19(15.17 5.85)
k_1_26(-3.79.-3.10)
k_1_37C1.78-251)

TRM:81 96,100
WAL{ET, 100,10
FT:74.91,1001

TRN:{100,59.72)
YAL100,80,80)
FT:(100,94,55)

TRE:(100,100,100) | TRH:(E5,100,10
VALY(E0,30,75) WAL(E9,59,100
FT.(100,87 35 FT:(74,87 400

TRN{100,87.51) | TRM:{5S,77,82)
VAL00,100,1007 | WAL(TS.89,89)
FT:(100,75.59) FT:37,50.94)



N

5

20. Maturheilkunde
(24,8,23)
k_SBC_10
Ginni_TRH: 95
Ginni_WwAL: 94
Ginmi__FT:08

20. Haturheilkunde
(24,8,23)
ard_XMISC_40
Ginni_TRH: 95
Ginni_WAL: 68
Ginni__FT:83

20. Maturheilkunde
(249,337
k_*ERROR_40
Ginni_TRH: 95
Ginni_WAL: 94
Ginni__FT: 85

Intercept:-4.22,-4.867
k_10_20(8.94 4.6a)
k2 3203211

Intercept(-21.24,-3.28)
(3430314
=10(16.652.23)
=16(-65 .60 ,-2.95)
236017331
2787 62 ,-2.85)
30(70.66,3.20)
=54(34.85 2.09)
#A0POTFAEZET
=186(499.65 2.78)
=182(823.00,2.95)
=104(81.00,3.05)
27103041 2.87)

Intercept-2.05,-1.9:2)
k_40_20032.27 1.54)
k_40_27(9.30,1.39)
k_20_36(44.27 -1.38)
k_10_345(35.53,1.39)

Intercepl-G.00,-5.26)
k_10_160:5.03,-1.99)
k_10_20010.42.5.12)
k_5_9C-3.41,-2.78)

Intercept-1527.7 -0.64)
H(3775.22,0.08)
=2(2800.31,0.17)
2A-A744.5,0.21)
=27(-4083 .8,
2250647 ,0.05)
H2E10.50,0.19)
=107(-4491.9 -0.08)
= 26(-3455.9,.)

1 444116.73,.)
5730370003
AGIT08.20,.)
=188(5367.02,0.08)
FA969625.23,.)
=2M6(3518.83,0.08)
Z305(-1870.2,)
=AM (1942.10,0.18)
=A4801612.64,.)

Intercept:-5.64,-5.74)
k_A0_2002.23 5.01)
k_1_9(-3.57-2.00)

TRN:{I0057 631 TRN:54,83,100
VALPIODE0 801 WAL(ES, 100,10
FT:(100,84,73) FT:30,91,100

TRN:(100,86,980  TRN:.(54.08 96
VALL(26 26 26) VAL(EE 67 57)
FT(100,400,9000 | FT:(100,100, 100

J

TRN:100,100,83) | TRM:(38,85,100
YALT00,100,1007 | WAL(100,100,1
FT:(100,87 .54 FT:6481.87)



21. Poo
(20,720
k_XERROR_1
Ginni_TRN: 95
Ginni_WAL: 95
Ginni__FT: 85

21, Peo
(207,27
=yd_XERROFR_40
Ginni_TRMN: 95
Ginni_WAL: 63
Ginni__FT: 85

21. Peo
(207,27
k_XERROR_1
Ginni_TRMN: 95
Ginni_WAL: 85
Ginni__FT: 84

Intercept-G.30,-5.04)

k_1_21(274472)

Intercept-15.48,-2.17)

S10(65.29 -2.84)
55(71.58,3.00)
£103(36.43 2 54)
£147(46.25 2. 45)
S166(93.72,3.08)
£109(-34.83,-2.55)
£2E2(-19.92,-2.83)
#431(:39.69,-2 64

Intercept:-G.30,-5.04)

k_1_21(3.74472)

Intercepl-G.81,-5.17)

k_1_21¢4.04 5.05)

Intercepl-15.60,-2.26)

£11(32.30 2 60)
$19(-48.87 -3.38)
542 56 2.87)
SA02(-64.02,-2.72)
S199(-44.97 -2.71)
S202(-25.34.-2.05)
344525 -2 B
£3E0(-46.53.-2.83)
#M2(-15 681,-2.50)
FT(-15.47 -2.41)
$452(30.39,2.84)

Intercept-G.81,-5.17)

k_1_21¢4.045.05)

TRN:{100,100,74)
YAL100,100,100)
FT:(100,100.77)

TRN:{100,82,71)
VAL{2T 27 14)
FT:(100,57.571

TRN:{100,100,74)
YAL100,100,100
FT:(100,100,77)

TRN:70,85,100
WAL100,100,1
FT:29,59,100

TRN:35.90,100
WaL{43,43,100
FT:146 96,961

TRH:70,85,100
WAL00,100,1
FT:429,59,1001



22. Pille
(176,23
k_XMISC_1
Ginni_TRN: 94
Ginni_WAL: 95
Ginni__FT: 84

22. Pille
(176,23
ard_XMISC_40
Ginni_TRMN: 92
Ginni_WAL: 55
Ginni__FT: 82

22, Pille
(178,23
k_XMISC_1
Ginni_TRMN: 94
Ginni_WAL: 85
Ginni__FT: 84

Intercept-3.57,-23.54
k_1_22(5.48.4.29)
k_1_37(-3.48,.2.55)

Intercep-d206.2,-178.50)
SA1TIZE.2.7.53)
145454,

= 7(-21044,.)

19908237 .46,.)
=309(-8647 3,
=ATAA452.7 21.42)

Intercept-3.57,-2.54
k_1_22(5.48.4.29)
k_1_37(-3.48,.2.55)

Intercepl-3.43,-3.64)
k_1_22(7.03.4.88)
k_1_ 370431303

Intercept-7200.7 9370

(194080,
S21026.0,)
S17(-34573.)
F120313.0,33.76)
£207(-13142 -16.385)
£207(-3053.3,4.56)
£334-70M65..)
£305(7905.22.6.56)
#20(11691.1,10.47)

Intercepl-3.42,-3.64)
k_1_22(7.034.88)
k_1_ 370431303

TRN:{1009267) | TRM:47 75.84)
YALT100,100,1000 | WAL(100,100,1
FT:(100,90,651 FT:43,53.96)

TRN:100,100,100) | TRM:100,100,1
VALI36,36,36) WAL{ET 57.67)
FT:(100,1001000 | FT:400,100,101

TRN:{1008367) | TRN:47 76.84)
YAL{00,100,1000 | WAL(100,100,1
FT:(100,90,651 FT:43,53.96)



23

Probleme_geschlechtswe .

(2.25)
k_*MISC_10
Ginni_THRM: 95
Ginni_WAL: 80
Ginni__FT:83

23

Probleme_geschlechtswe .

(3.2.5)

k_XERROR_1
Ginni_TRM: 0
Ginni_WAL: 0
Ginni__FT:0

23

Probleme_geschlechtswe .

(3.2.8)
k_AIC_1
Ginni_TRN: 95
Ginni_WAL: 87
Ginni__FT:84

Intercept-16.89,-0.05)
k_10_23(14.21,007)

Intercept-2.51,-4.19)

Intercept-17.42,-0.07)
k_1_23(17.46,0.09)

Intercept-36.98,-0.041)
k_10_23(30.52,0.00)

Interzept-2.30,-4.91)

Intercepl-128.05,-3.79)
k_1_230117.14,)

TRN:(100,100,100) TRN:(B?JEID.Wﬂ
WALI00, 00,1000 WAL100,100,1
FT:(100,100,100) FT:0100,100,100

TRN:E.5.8) TRH:100,100,1
VALT13.13.13) WAL00,100,1
FT:0.9.9) FT100,100,10

TRN:(100,100,100)
WAL100,100,100)
FT:(100,100,100)

TRM:(E7, 100,10
WAL:(100,100,1
FT:(100,100,100



24, Schilddrize
9.4,13)
k_XERROR_1
Ginni_TRN: 93
Ginni_WAL: 93
Ginni__FT: 84

24, Schilddrize
9.4,13)
k_SBC_Z0
Ginni_TRMN: 93
Ginni_WAL: 86
Ginni__FT: 85

24, Schilddrize
9,4,13)
k_*ERROR_1
Ginni_TRN: 93
Ginni_WAL: 93
Ginni__FT: 84

Intercept-G.36,-3.84
k1 24417 2.73)

Intercept-19.87 -0.01)
k_20_24(84.18,0.01)
k_&_37(-64.54.-0.00)

Intercept:-G.36,-3.84)
k1 24417 2.73)

Intercept-5.99,-4.83)
k_1_24(3.31 3.56)

Intercept-2.47 -1.59)
k_20_2464.87 2.70)
k_5_37(-4.23-1.95)

Intercept-5.99,-4.83)
k_1_24(3.31,3.56)

TRN:{100,89.597 | TRN{7S.50,58)
YALT100,100,1000 | WAL(100,100,1
FT:(10010088) | FT:35.85.92)

TRN:(100,400,100)  TRH:100,100,1

VAL1E0,80,50) WAL00,100,1
FT:(100,83.83) FT:85,100,100
TRN:{100,589.597 | TRN{7S.50,58)

VALT100,100,100) | WAL(100,100,1
FT:(100.100881 | FT:34.85.92)



24,
Schwangerschattszargen
(36,13,49)

k_SBC_40
Ginni_TRMN: 95
Ginni_WAL: 85
Ginni__FT: 85

25,

Schwangersch aftszorgen
(36,13,499)

=d_AIC_40
Ginni_TRN: 93
Ginni_WAL: 33
Ginni__FT:83

25,
Schwangerschaftszargen
(36,13,49)

pe XMISC_40
Ginni_TRN: 95
Ginni_WAL: 91
Ginni__FT: 85

Intercept:-5.10,-4.977
k_40_25(8.13 484
k_20_1(-188,-227)

Intercept-2005.7 -1.34)
=3(-12660-1.48)
263965,
=210-11663..)

A 16685,.)
SHTF3061.4,0.34)
T8(18305.5,.)
S38(-23359 -2.14)
=106(22480.7,0.61)
=T 0459 8,0

=1 34015517.5,)

1 A222663.14,0.71)
s2TE-6A37 3,064
=308(5209.20,0.11)
FET2E7.0,)
323-6992 2,-0.20)
36212524 ,-0.08)
212181 ,-0.20)
A3T3462.6,1.03)
=400719428.6,1.00)

Intercept-27.10,-2.23)
pC_f_S(33 64.2.12)
pC_58_1(-0.90-0.82)
pC_18_7(38.33,1.04)
pC_28_106.82,2.10)
pC_26_2(-18.64,-2.03)
pC_38_3(-37.36.-1.89)

Intercept-5.70,-5.62)
k_A0_25(8.81 542
k_1_1(-2.88,-3.10)

Intercept-717.64,-0.27)
=3(-868.64,-0.17)
2079,10,0.00)
262437 20,0.08)
=A0(-1024.3,.)
=A6(-1981.8,-0.11)
SH1916.07,0.43)
STE1338.72,0.08)
= 18(1637.80,0.08)
=137(-1865.8,)

=1 42(2700.42,0.08)
= 442144.02,0.13)
= T001448.37,0.08)
182(-2128.3,-0.08)
2141 .83,
s207(2678.85,0.45)
21G6(-1444.5,-0.18)
27158084,
3020405 .34,-0.10)
Z02E12.24,)
308047548,
RO2E02.67,0.07)
2A54E65.91,0.07)
ATHTEE.28,0.12)
=AFA1212.43,0.13)
=A49001081.438,0.08)

Intercepl-10.05,-5.12)
pC_A_10-0.77 -2.78)
pC_20_7(14.922.53)
pC_256_1(2.56,4.63)
pC_25_2(-2.55 -2 .48)

TRN:{100,94,59)
YAL{100,100,57)
F T:(100,86,80%

TRN:(100,100,100)

VALI25.25,25)
FT:(100,100,100

TRM:(100,100,88)

YALT100,79.79)

FT:(100,95.551

TRN175.82.94)
WaLH2,82,100
FT:52.92.96)

TRM:53.100,10
WAL{38,35,38)
F 700,100,101

TRM:53,97,100
WAL{23,85,25)
FT:456.92.96
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- B ox

Schwangersch aftssymptome
(27.8,36)

k_XMISC_20
Ginni_TRN: 94
Ginni_WAL: 95

Ginni__FT: 84

26,
Schwangerschaftssymptome
(27 .9,28)

=vd_*ERROR_40
Ginni_THN: 94
Ginni_WAL: 51

Ginni__FT: 84

26.

Schwangersch aftssymptome
(27.8.36)

k_XMISC_5

Ginni_TRMN: 92
Ginni_WAL: 94

Ginni__FT: 82

k_20_26(16.20,3.81)
k_10_194-2.85.2.54)
k_2_26(-12.58,3.16)

Intercept-11.33,-4.14)
=2(46.28,3.76)
-39 84,-3.44)
1273217 ,3.18)
=138(-20.82,-2 67
=181(43.01,3.38)
=193(39.39,2.73)
306019.91,3.45)
=01(20.41,3.29)
2428(22.74,3 69)
=439(24.32,3.44)

Intercept-4.76,-5.39)
k_&_26(3.726.79)

b_20_26i13.52,4.48)
k_2_26(-10.58,3 62)

Intercept-10.31,-5.71)
=2(26.71,4.03)
11.1562.23)
=11(-28.24,-4.28)
=14-39.10,-4.17)
1901417 2.75)
=3(18.22,2.69)
52(-36.90,-4.21)
=148(-18.32,-2.65)
=195(23.52,2.78)
251014.834.27)
=320(-10.39,-3.25)
2334-10.42,-3.23)
360015.88,4.258)
=A01(17.19,2.94)
=421(-8.86,-2.94)
=40(23.79,4.70)

Intercept-6.41,-8.470)
k_5_26(11.92 404
k_2_26(8.20-282)

VAL{100,100,100)  VAL(100,100,1 a |

FT:(100,94,58) FT:25,56,1001
TRN:{10052,590 | TRN:44,85,100
VALT12,11,44) WAL{ET 50.59)
FT:(100,34,551 FT:6152.94)

TRN:{100,80,600 | TRM:i22.74.83)
VALT00,100,1000 | WAL(S9,.59,89)
FT:(100,34,53) FT:33.75.92)



27. Schwangerschaftstest
(22,8300

k_XERROR_20
Ginni_TRN: 95
Ginni_WAL: 93
Ginni__FT: 85

27. Schwangerschaftstest
(228,200

k_SBC_40
Ginni_TRN: 91
Ginni_\AL: 28
Ginni__FT: 85

27. Schwangerschaftstest
(22,8,30)

k_SBC_2

Ginni_TRM: 94
Ginni_WAL: 85
Ginni__FT: 82

Intercept-13.13,-2.24)
k_20_27(27 44,2 26)
k_5_19(-15.58,-2.02)

Intercept-2070.5,-39.61)
k_40_31(291.66,1.83)
k_20_27(4192.19..)
k_&_19(-2293.9,)

Intercept:-4.43,-3.02)
k2 _8(-12.11,-2.02)
k_2_27(13.48.4.43)
k1 330269247

Intercepl-4.64,-2.97)
k_20_260-2.80,-2.59)
k_20_27(17.23.387)
k_20_36-2.84,-1.87)

Intercept-4.78,-3.09)
k_40_36(-2.65,-1.88)
k_20_26(-2.73,-2.47)
k_20_27(17 233 86)

Intercept-3.30,-4.68)
k_2_37(-1.23-25%)
k_1_27(10.84 587

TRN:(100,85,85) | TRH:D1 95,100
VAL(IOD G347 | WAL{ES 88,100
FT.(100,84,89) FT.70,8757)

TRN:100,100,100)
VALITETEET)
FT:(100,84,84)

TRM:85.100,10
WAL{EE,58,100
FT:70,97.87)

TRN:{100,91.75)
YAL100,100,100)
FT:(100,96.47}

TRN:54.81.95)
VAL{ETE.75)
FT470,72.900



28, Spermiogramm
(42,15,57)
pc_£ERROR_40
Ginni_TRN: 95
Ginni_WAL: 94
Ginni__FT: 85

28. Spermiogramm
(42,15.57)
pe_sMISC_40
Ginni_TRMN: 92
Ginni_WAL: 24
Ginni__FT: 85

28. Spermiogramm
(42,1557)
=yd_*ERROR_40
Ginni_TRMN: 95
Ginni_WAL: 88
Ginni__FT:85

Intercept-22.07 -2.60)
pC_5_3(41.10,2.44
pC_28_1(5.39261)
pC_28_2(-12.31.-1.99)
pC_33_1(2.81.2.48)

Intercept-2000.5,-3.19)
pC_5_3(3927 A6 .2.40)
pC_f_4-3307 6.-3.21)
pC_28_ 4049274
pC_28_2(-642.00 -1.48)
pC_33_1(203 65 ,0.56)

Intercept-13.23,-4.15)
=2(-36.15,-3.94)
2H75.47 3.83)
=19(24.97 2 .60)
=25(44.81 3.11)
£32(-27.09,-2.88)
=114-28.98,3.17)
164(35.41 2 62)

Intercept-13 .82 -4.56)
pC_2_T(-23.41,-2.27)
pC_3_4(10.32,2.58)
pC_5_3(16.41,2 66)
pC_19_2(-3.98,.2.49)
pC_28_1(3.52 4.61)
pC_33_1(1.20,3.00)

Intercepl-13.82,-4.56)
pC_2_F-23.41 227
pC_3_4(10.:32,2.56)
pC_&6_3(16.41,2 6E)
pC_19_2(-2.9%8.-2.49)
pC_28_1(3.52,4.61)
pC_33_1(1.20,2.00)

Intercept-0.03,-0.02)
=1(-80.14,-3.85)
2(-51.22,-3.48)
=H85.323.77
=19(46 .45,3.08)
£1(-50.75,-3.32)
|BI-2T.31,2.70)
10548 .94,3.53)
=218(-39.66,-2.85)
241387 287
2T815.33 .2 66)

TRN:{100,92.93)
YALT100,85.75)
FT:(100,92.59)

TRN:100,100,100)
VALISE82.52)
FT:(100,82.55)

TRN:{100,59.51)
VAL{100,80,80)
FT:(100,92.29)

|
TRN:(82.1EID.1Dﬂ

WALTAT 53,100
FT:81.9%,1000

TRN:100,100,1
WAL{E0,83.93)
FT:81.9%,1001

TRN:fiz 83,100
WAL{40,50,80)
F 7476 .96,98)



29, Stimulation
(30,10,40)

k_XERROR_10
Ginni_TRN: 95
Ginni_WAL: 93
Ginni__FT: 85

29. Stimulation
130,10,40)

avd_XMISC_40
Ginni_TRH: 95
Ginni_WAL: 53
Ginni__FT: 85

29, Stimulation
(30,10,40)
k_*MISC_10
Ginni_TRN: 95
Ginni_WAL: 91
Ginni__FT:85

Intercept-4.47 ,-4.74)
k_10_16(-6.29 -3 26)
k_10_29(20.05,3.88)
k_1_29(-863-287)
k_1_35(-4.97 295

Intercept-12.43,-2.84)
2-70.132,-2.69)
H(-50.58,-3.30)
2002287 2.83)
243(-34.12 -3.18)
=151(-49.52,-3.36)
=198(-36.07,-2.88)
2309(-22.03,3.22)
=323(-15.94,-3.00)
224801676 2.04)
=A08(17.39,2.58)
=A2T(8.91.2.71)
2459017 26,2 .76)

Intercept-3.92,-4.07)
k_10_16(-5.81,-2.849)
k_10_29(23.30,3.87)
k2 18(-10.21.-1.98)
k12901163 ,-2.88)
k_1_35(-6.13,-2.85)

Intercept-4.45,-4.77)
k_10_100-7 .85,-2.28)
k_10_13(-4.48,-2.15)
k_10_1606.17,-3.21)
k_10_29019.77.470)
k_2_ 340414315

k_1_290(-10.01,-3.30)

Intercepl-19.57,-2.258)
2Y-T252,-3.00)
=-90.06,-3.049)
=13(25.04,2.76)
=347 44,2 .98)
=H(E1.57 2.71)
=128(32.50.2.800
=148(-43 63,-2.51)
=151(-30.84,-3.13)
=193(66.39,2.08)
202(-59.47 2.7
=203(52.30,2.82)
=E2A(-TA83,-3.02)
s226(-45.53,-2.79)
227(84.42,3.200
23462 1.59,2.82)
=364(31.70,2.95)
3BA-12.02,-2.32)
=06(28.54,3.07)
=A02(29 .46 3.258)

Intercep-4.45,-4.77)
k_10_10(-7 85,-2.28)
k_10_13-4.48,-2.15)
k_10_1606.17,-3.21)
k_10_29¢19.77.470)
k2340414315

k_1_29(-10.01,-3.30)

TRN:{100,92.59)
VALT100,63,63)
FT:(100,54,78)

TRN:100,94,94)
YALT14,12.12)
FT:(100,95.551

TRN:{100,90,75)

VAL 100,50,80)
FT:(100,84,75)

TRH:42 90,100
WAL(40,100,10
FT:(70,35,.95)

TRN:143,87 97)
WAL{50,100,10
FT:155.90,98)

TRH43 80,100
WAL{40,50,80)

FT:70,55.95) J



30. Emischenblutung
(104,145
k_XERROR_1
Ginni_TRN: 94
Ginni_WAL: 94
Ginni__FT: 85

30. Emischenblutung
(104,14
=yd_*ERROR_40
Ginni_TRN: 94
Ginni_WAL: 58
Ginni__FT: 84

30. Emischenblutung
(104,14
k_XERROR_1
Ginni_TRN: 94
Ginni_WAL: 94
Ginni__FT: 85

Intercept-7.72,-3.44)
k_1_3005.45,3.12)

Intercept-35.30,-1.600
#7(-124.04,-1.52)
=22(-211.48,-1.58)
22AT(-64.68,-1.63)
=297(133.92,1.59)
=230153.77,1.49)

Intercept-7.72,-3.44)
k_1_3005.45,3.12)

Intercept-3.72,-3.60)
k_1_30(5.19,3.33)

Intercep-10.07 ,-3.480

(5247 -3.31)
£115(-42.12,-2.T6)
£139041.90,2.51)

$155(47 26,2.50)

£3300-11 67 -2.41)
£354(-16.01 -2.68)
S00(-25.15,-2.88)

Intercept-2.72,-3.60)
k_1_30(5.19,3.33)

TRN:{100,90,63)
YAL100,100,1007
FT:(100,92.671

TRN:{100,90,56
VALT18,15,18)
FT:(100,92.521

TRN:{100,90,63)
YAL100,100,1007
FT:(100,93,57)

TRN50.90,100
WAL00,100,1
FT:54.9%,100

TRN50.90,100
WAL00,100,1
FT:43 56,1001

TRH50,90,100
WALO0,100,1
FT:649%,100



31, Zyklus
(59,20,79)
k_XERROR_30
Ginni_TRN: 94
Ginni_WAL: 94
Finni___FT: 84

31. Syhklus
(99,20,70)
swd_*XERROR_40
Ginni_TRN: 94
Ginni_WAl: 69
Finni__FT: 94

31, Zyhlus
(59,20,78)
k_XERROR_S
Ginni_TRMN: 92
Ginni_WAL: 91
Sinni__FT:92

Interceph-5.99.-6.41)
k_30_141.21,2.37)
k_30_31012.20,6.12)
k_5_19(-5.09,-3.19)
k_5_200(-2.91,.-4.07)
k_2_28(1.29,3.57)
k_1_G-2.01,-2.92)
k_1_31(-7.23,-4.15)
k_1_22(-1.51.-2.73)

Interceph-11.25,-6.28)
s2024.18.5.20)

= 14.50,2.50)
=6021.62,4.58)
=9-16.34,-2.62)
=10029.04,4.24)
=36035.50.4.21)
=51019.57 2.64
H0(-20.09,-3.27)
55(-15.04,-2.04)
H8021.94.3.52)
S-22.20,-3.21)
=90(-15.89 -2 .50)
S25(-34.55 -4.29)
=101(18.67 .53.18)
=111:-34.07 -4.21)
=135(26.84,4.27)
=145(20.55 4.50)
S156(-12.31,-2.04)
S232(-9.20,-23.21)
S235013.23,3.80)
S2660-8.11,-2.92)
=250 .34,2.92)
S301010.92.323.77)
=302(%.93,2.99)
£204015.19,2.54)
=3290-11.88,-3 63)
S3ET(-2.34,-2.63)
=353016.13,4.38)
=4200-0.563,-2.82)
=440(-11.75,-3.19)
=A510-10.65,-2.29)
=ATFE-17.19,-4.31)
=A82(-7 .85 -2 65)

Inleicepl-3.70,-7 4070
k_S_200(-G.93,-4.561)
k_S_31(14.95,6.28)
k_S_3T(-1.27.-3.93)
k_2_19(-4.05,-3.36)
k_1_Gi-1.39,-3.01)
k_1_31(-10.07 -4.561)

Interceph-6.0G,-2.25)
k_30_13(2.23,3.22)
k_30_141.95.2.47)
k_30_258(1.54.2.81)
k_30_2115.528.7.37)
k_10_205.77.2.87)
k_S_Z0C19415,-2.72)
k_2_28(1.258,4.59)
k_1_26(-2.07 -2.04
k_1_31-10.23,-5.85)

Interceph-10.14,-7 690
S20228.97 5.45)
=W 1697 ,4.01)
=5(20.02.5.65)
=10(19.056,5.27)
=13(18 .67 4.25)
20026 77 561
=47(15.20,23.88)
S5E(17 .17 . 3.69)
£3-18.99,-4.04)
723 .86 4654
0-15.15,-2.78)
=03(-19.84,-3.93)
=101(29.86.5.54)
1022417 4.51)
1358 .64.2.14)
13T 2287 4790
4317.20,2.71)
207017 .11, 3.62)
S223(-21.14,-3.20)
s226(27 85,499
=23509.26.4.29)
=258(-9.02,-3.33)
=28209.31.323.97)
=300(7 .82,3.39)
2045 .40,2.25)
=315-4.81,-2.39)
S3ET(-8.20,-2.45)
=366 .23,2.92)
£28005.99,2.04
=383(10.80,4.51)
£205(5.99,2.04
=306(-6.84,-3.18)
=G5 .68.2.88)
= 7(-8.88,-23.96)
=A50(7 .85.3.02)
=5 1-12.11 ,-3.421
=A52(-8.62,-53.28)
=47 B-0.492,-3.26)
=493(-9.89,-3.11)
=404-2.59,-23.45)

Inleicepl-3.05 -5.33)
k_S_89-2.28,-2.99)
k_S_20(-5.23,-94.42)
k_S_22(-2.43.-3.52)
k_S_31014.32,7.03)
k_S_3T(-0.83,-3.03)
k_1_Gi-1.52,-3.65)
k_1_190-4.00,-3.91)
k_1_31(-8.75,-4.70)

TRN:(100,96,721
WAL100,849 507
FT:{100,90,76)

TRN:(100,92 62
WALIZ1,21,17)
FT.0100,82,65)

TRN.(100,7&,00%
WALIEE 80,65
FT:(100,86,47)

TRM:75,85.93) = |
WALI(S,S0,100)
FT:(19.87 .94

TRN:(10,86 05)
WAL:(S0,55,20)
FT:(32.54.92)

TRH.(3H,80,80)
WAL(3E,50,55)
FT:(5,76,0%



B I

32 Eysten
(12,4,18)
k_XERROR_1
Ginni_TRN: 04
Ginni_WAL: 94
Ginni__FT:85

32, Eysten
(12,4.18)
k_XERROR_1
Ginni_TRN: 94
Ginni_WAL: 94
Ginni__FT: 85

32, Eysten
(12.4,18)
k_*ERROR_1
Ginni_THN: 94
Ginni_WAL: 94
Ginni__FT: 85

Intercept:-7 60,-3.0070
k_1_32(8.37,2.49)

Intercept:-7 G0,-3.0070
k_1_32(8.37.2.49)

Intercept:-7 60,-2.0070
k_1_32(8.37 2.48)

Intercept-2.40,-3.26)
k_1_32(9.90,2.86)

Interzept-3.40,-3 26)
k_1_32(8.90.2.896)

Intercepl-2.40,-3.26)
k_1_32(8.90.2.086)

TRN:{10081.67) | TRN:{75.83.100
VALT100,100,1000 | WAL(100,100,1
FT:(100,83.73) FT:75.94,1001

TRE(100,81 670 TRHA7S 22,100
WALY00,100,100) | WAL(100,100,1
FT.(100,83,73) FT:(75.04,100)

TRN:10091,67) | TRM:(75,83,100
YALT00,100,1007 | WAL(100,100,1
FT:(100,53.731 FT:75.94,1001



F3. A, Allgemeine Fiagen
(399,134.533)
k_XMISC_20

Ginni_TRN: 71
Ginni_WAL: 70
Ginni__FT: 74

F3. A, Allgemeine Fiagen
(309,134.533)
sd_SBC_30

Ginni_TRN: 50
Ginni_WAL: 29
Ginni__FT: 63

33 A, Allgemeine Fiagen
(399,134.533)

k_SBC_1

Ginni_TRHN: 64
Ginni_WAL: 63
Ginni__FT: 64

Infercepd’3. 14,6.38)
k_A0_33(23.39.8.25)
ke S0 _FT1.75,7 03
k30 _E3-11.92.-451)
k_30_35(3.08,8.02)
k20 3E(0.92,3 26)
k_10_34(1.108,357)
k5 _ZH-4.22 -4 56)
k& (1056200
k_Z 5145 459

Imbercepi2. 16,0.86)
£2(B044.27 1.20)
£2(10615.7,3.11)
#AE382.8,043)
(189029,
=(10797 5,
#ANZBETHE, )
(195215,
sIH11523. 4.0 83)
$12(24870.5,1.50)
S15(-28355..1.92)
FIS-27ER0,,)
20012888 ,0.80)
2H12115,)
£24(18914.4.0 85)
28003542 0 89)

LTI PR Ly o0
=18(-27630,.)
=20(-12683 -0.89)
Intercepl2 45,11.28)
k_1_1001.08.2 45)
k_1_13082372)
k_1_332 88.11.48)

Intercepi(3. 11,965
k_40_332183883)
k_40_37(1.70,7 54)
k_20_16(0.97,3.21)
k_30_33(-2.39,-2 56)
k_20_33(-0.27 -402)
k_30_35(3.059.11)
k_30_36062.4.12)
k_20_38(1.54,6.20)
k5 5144571

k & _12(0.79.2.74)
k& 3236732
k_&_33(-4.75,5.88)
k_1_24(1.85 480)

Inbercep¥0.01,0.100)
=3(5.40,3 59)
#5(2.75,3 55)
#(-2.54,2 £3)
#(328,3.98)
21003 58,3.51)
$13(3.34.313)
F5-9.29,.387)
S18(-5.45..5.19)
23290 2 20)
£2403.20,.317)
£38(-4.80,4.02)
43332 08)
$T0(3.00.2 87)
08(5.18.4.21)
#155(2.08,2.20)

SABALA AR B S
38(-4.60,-4.02)
H-3.33,-2 .96)
Intercepi2 44,13.03)
k_1_0i104.2.74)
k_1_12(081.4.70)

b 1_20(-1.21,-333)
1332 61.13.04)

TRH{100,20,90)
WAL100,92 92)
FT:(100,55.22)

TRHA400,100,100)
VAL{E4 5484
FT:(100,63.74)

TRN{100.70,73)
WAL(100 64,79
FT:{100,69,20)

TRH:27,00.20)
VALTIZ 8454
FT{24.9202)

TRHA28,100,10
VAL{E7 100 67
FT:1.8573)

TRHB.87.72)
VAL1E.93 70)
FT-5.22 66)



34 O,
Derzeitigebehandlung
(24E G333
po_*hISC_a0
Cinni_TRM: OO
Ginni_WAal: T8
Ginni__FT: 20

34 D,
Dezeitigebehandlung
(24E a3, 331
k_XMISC_30
Finni_TRMN: 78
Ginni_WAL: 77
Finni__FT: 79

24 D,
Dereitigebehandlung
(242 83,321
k_SEC_S

Ginni_TRMN: 75
Ginni_Wal: 72
Ginni__FT: 74

Interceph-1.77,-9.66)
pC_Z_G03.46.2.20)
pC_8_B:2 78274
pC_11_7(F 96,273
pC_10_B(4.75,0.000
pC_15_2-2.57,-2.50)
pC_16_1(-0.14,-2 63)
pC_18_201.16,2.21)
pC_19_1(-0.21,-2.18)
pC_24 S(9.65.4.200
pC_25_2(0.97 .2 69)
pC_26_1(-0.35,-5.52)
pC_26_7(-2.30,-2.01)
pC_28_1(-0.29,-2.24
pC_24_12.12.11.87)
pC_34 2(-4.54,-9.02)
pC_24 25.72.6.45)
pC_34 7F{10.24,2.232)
pC_25_1¢-0.50,5.42)
pC_36_6(5 42,2 67)
pC_27_1(-0.53,5.87)
pC_37_7(1463.2.498)

Interceph-3.55,-10.02)
k_30_Z200.47 329
k_30_SK7 6311230
k_30_371.00.-6.71)
k_Z0_26(-0.79 -3 300
k_Z0_27(-1.03 -2 200
k_20_290-1.12.-4.01)
k_5_3E(-1 62 6207
k_Z_20-0.81,-2.24)
k_Z_3eH-3 26 - BT

Intercept-2.50,-9.47)
k_S_2O0-0.99.-3.31]
k_5_32(2.06.2.57)
k_S_3<H7 E0 65
k_Z_ZE0.E2 4 6
k_2_38(-1.19.-5.52)
k_1_m2427 317
k13421 .-5.19)
k_1_EF-0.83 -5.08)

Intercept-1.90,-11.58)
pC_S_100.11.2.29)
pC_8_6B-2.38 -2 65)
pC_9_3(3 24429
pC_A0_4(0.20,0.05)
pC_10_4Z2.74.2.200
pC_13_6(2.50.1.849)
pC_ 14 2(.20,2.22)
pC_19_1(-0.16.-2 .44
pC_22 FiG.21,2.95)
pC_23_3-3.18.-4.13)
pC_24 5(23.79,4.12)
pC_25_G(-4.90,-2.25)
pC_26_1(-0.34,-5.50)
pC_26_S0(5.22,2.00)
pC_26_7(-8.37,-2.49)
pC_27_T(-2.43,-2.37)
pC_28_S2 12,2744
pC_20_1¢-0.12,-2.78)
pC_31_100.29,4.11)
pC_24 1(Z.27,12.40)
pC_34_2(-5.19.-10.99)
pC_24 25027 .42
pC_34_F(12.07.4.21)
pC_35_1¢-0.54.-5.494
pC_36_6(4.86.2.74)
pC_37_1-067 -2.65)

Interceph-3.94,-11.600
k_Z0_904.17.2.40)
k_E0_120-0 86 -3 0
k_30_26(2.97 .2.500
k_30_2E800.566 3 20
_30_S<h14 44,10 78
k_30_3701.22,-7.29)
k_Z0_S¢3 .80 ,-2.117
h_z20_26-6 55,3 9
k_Z0_27(-1.45 -5 451
k20 _Za-1.18,-4.40)
k_Z0_S2-0.90,2 971
k20 36047 ,-2.000
k_10_19¢1 18,2 091
k_10_3-2.08,-2.200
k_S_10¢1 .05 3 .06
k_S5_ZG02.40.2.58)
k_S_350-1 .43 -5.01]
k2 171102700
k_1_3-2 19 -2 80

Intercept-2.49,-11.08)
k_S_2O0-0 05 -3 05
k_5_345.99,10.64
k_Z_ZEM.ET.5. 15
k_A_E2¢0 87 2309
k_1_34-3.35.-5.11)
k_1_35¢1.09-557)
k_1_Z7T0.77.-5.80

TRN:(100,89,81)

WALE100 .85.71)
FT:(100,59,59)

TRN:(100,79.76)

WALP100,78.78)
FT:(100.84.77)

TRN:(100,69.671

WVAL100 82 .52)
FT:(100,55,55)

TRN:(28,81,88);I

WAL (e 72 56)
FT:(19,85,85)

TRHN¥25.80.82)
Walrz1,81,81)
FT:018.78.85)

TRHx2,72,22)
WAL 0 60 ,60)
FT:(4.79.79)



/

]

35. E, Ergebininie
(232.78.310)
k_XMISC_30
Glnni_TRN: 82
Ginni_WaL: 80
Ginni__FT: 82

35, E, Ergabinizie
(232.78.310)
k_SEC_30
inni_TRN: 81
Glnni_WAL: 80
Ginni__FT: 84

35. E, Ergebinizie
ZIzTe30
sod_SBC_a0
inni_TRN-78
Glnni_WaL: 80
Ginni__FT: 76

Irderoapd:-2 627713
k_al_ZB(5.23,.2 890
k_Q0_35(12 87,10.19)
k_30_21(-10.35.-3.83)
b 30 _20(-3.01,-385)
k_20_122 45,523
k_20_Z19.22,3.35)
k_Z0_28(7 07 332)
303001, 70.-3.58)
k_20_21(0.82,.2 88)
k_10_H-10.02,-3.99)
k_S_200.00.3.21)
k_S_18(:2.03,.243)
k_S_ER2 52 41000
K_2_B(-1.40-2 800
k_2_A-11.27.-2149)
k2 _ZB(-2.13.307)
k_2_35{:5.07 5.7
k_Z_FB{1.78.3.85)
k_1_4(13.18.2.43)

W 1_203 02,274

Intercapl2 84.-7 53
k_20_1201.48,.4.27)
k_B0_ZA(E.44,.3.7)
k_30_35(0.20.0 &6)
k_30_2WF TE335)
k20002 08 -4 83
k_5_3(-1.37 3,000
K_5_18(-1.71.-2 56)
k_S_Z5(0.65.-4.0%)
k_5_33(2 27 4.59)
k_2_35(:-3 .82 -3 2)
K_2_ZE(1 42389
k_1_401.09,3.78)

Inbereept-1.32 10 32)
#2(4.89.4.88)
2310 85,7 05)
£5(:5.10,-475)
FI0-12.20,-7 55)
FIST 24.9.866)
FB2 94T 08
£21(:8.92,.585)
2705403 30)
BACAEE281)
595.29,:3.95)
$80(4 87 2 B3)
A 81,291)
TO474,2 82)
£D045 47,2249
#1ZH(-5 60,3 08)
FI85(-5.02 -2 09)
20007 .26.-3.00)
LT 05,2 BE)
£290(1 92,2 B5)
1582(-2.59,-2.90)
ERAE.73.383)
#0232 2 58)

Intercept-3.28..0.20)
k_a0_130 88 .2 88)
K _A0_2 (-3 59,4 08)
K_A0_38(11.35 1183
b_20_B(0.53 .2 54)
b_20_12(-1 84,5 &)
k_10_2(-8.01,360)
k_10_Z00-3.10,-3.88)
b_&_3(7.74.3.38)
k_S_24(2 85,2 87)
k_S_33(1.74,3.80)
k_2_3(-1.15-2.58)
k_2_28(0.75.4.43)
k_Z_35(6.13.730)
K_1_401.03.3 38)
k_1_30(2 902 .28)
k_1_28(1.24.3.498)

Intercept-2.72.-9.18)
30 21G-2.02,2.53)
k_B0_35(8.83,11.70)
k_20_12(-1.497 -8.18)
k_10_40.£0.3 £8)
k_10_ZB60 BT 8.1)
k_10_B06:3 72 ,.3.049)
k_S_21(2.79.2 87)
k& _34(-1.35.-4.20)
k_2_20A.10.2.77)
k_Z_35(-4.52.5.15)
k_1_3002 78,2 .43)

Intercept-0.01.-0.02)
FI0-9.99,-3 08)
£2(4.05 887
#37 34,5 75)
2507 43,7 08)
23,402 78)
(T 35,5 B)
£10(-11.90 .8 20)
3420327
FI5(366,6,10)
£18(9.48,7 26)
£21(:8.37 .5.13)
#8457 325
L7333
£43.490,3 21)
£T3(-4.99,-3.51)
005,17 3 98)
SA-3.00,.2.785)
22408 ,331)
143318 .2 BE)
21HA00.313)
£217(-3.93,.2.60)
m-i.aﬁ..znw

SEEAE 7 5.5 .05)
2401(-2 32 ,-2.58)

2 17(-3.08,-2 60)
205(-1.85,-2 60)

TRHLA00,80,60)
VAL{100,88 78)
FT:100,64,82)

TRN(100.53.81)
VAL{100,78.78)
FTA00,81 81)

TRHI00,62,62)
VAL{100,98,80)
FT:(100,72 58)

TRE:24,87 87)
VAL48 82 BH)
FT2(10,89,80)

TRH17 88 58)
VALAS, 23 £
FT010,89,89)

TRE1Z80 58
VALTA.S2.59)
FT8.74.81)



&

36. G, Gefuehle
(67,2380
k_SBC_2
Ginni_TRN: 93
Ginni_WAL: 93
Ginni__FT:83

36, G, Gefuehle
57,23.800
avd_SBC_40
Ginni_TRN: 82
Ginni_WAL: 25
Ginni__FT: 82

36. &, Gefuehle
(67 23,800
k_AIC_30
Finni_TRN: 95
Ginni_WAL: 92
Ginni__FT: 84

Intercept-6.74,-9.80)
k_2_36(5.60,9.808)
k_1_11(1.05,2 61)
k_1_37(-1.80,-472)

Intercept-36222 -31.55)
267462 ,-22.73)
(5167 .4.6.07)
SH(T7455.9,15.83)
=13(-68221 -2.89)
=15(FE247.3,8.80)
AGBFTZ24.6,7.73)
=31(79383.5.5.56)
=34(30230.4,3.10)
=36(-44613,.)
=-17 115 ,-2.07)
#H1(-45462 -7 .43)
SHi3(-101627,.)

= O-G0764 -12.70)
28074700,
353627 4.4.56)

AR

Intercept:-11.54,-8.78)
k_30_36012.76,5.81)
k_20_14(-:0.63,-1.94)
b &_aVi(-2.a2,3.69)
k2 17(-4.06,321)
k_1_8-5.35,2.14)
k_1_27(-467-260)
k_1_36(-6.20,-3 56)
k_1_ 3801872417

Intercept-6.50,-11.10)
k_2_3605.00,11.08)
k_1_1101.11,3.12)
k_1_37(-2.21-594)

Intercepl-G6754,-28 .44
=2(- 1168316 ,-20.10)
230106992 6.82)
=H-70473,.)
=h127819,36.093)
=13(-150793,-6.31)
=1B(102850,.)
=957 125.5,)
275164223 .85.76)
221(109156,2.72)
=39(105519,.)
=A2(B0367.0.8.52)
=7 (E6447 9,
SH1(-86571,.)
53(-143344,-6.01)
119128, 14.50)
SASNEE00.F0F. T

Intercept-2.33,-9.09)
k_30_7-4.08.-3.14)
k_30_36(15.11,4.17)
b_20_170-2.50,-3.20)
k_20_36(-7 80,-2.24)
k_20_38:1.70,-3.81)
k_5_27(-3.30-288)
k_1_T(4.32.267
k_1_ 110118271
k_1_37(-218-381)

TRN:{10072.52) | TRM:24.72.81)
VALTIO0, 100,600 WALLET.G61.81)
FT:(100,79.581 FT:423.71.91)

TRN:100,100,100) | TRM:(100,100,1
YALTT 747 WAL{30,30,30)
FT:(100,1001000 | FT:400,100,101

TRN:{100,80.67) | TRM:B7 35.88)
VALHDD 7777 WALIET.ATET)
FT:(100,92.62 FT:34.56.94)



ST, Interpiaiatien Il rod p A3 <8 330 Iinfe ros pA-3.0:5, 11 24) TRH{I00 82.82) TRHIZ1,8087)
(184,81 242 ka0 _16-2.34,.3 82 k_A0_1{-0.78 .3 83 WAL 100,78 750 AL B, )
k_AIC_40 k_A0_130.52,2.55) k_S0_3T14.506.8.12) 110088 67) FT12,72.89)
Sinni_TRN: B ka0 _I720.04.7 20 k_M0_a00.78.-201)
Seinmi_WAL: o b A1 08 -2 i B0 _ Al 04,7 S0
Sinni__FT: 83 b0 _ 182 82 -2 A0 k20 _BF 413,113

B0 _TE{-0 02 -2 88 k_20_ZE{-0 87 -5.490)

B0 _BA(-2, 10,5 50 k_20_S7(-0.42,.4,37)

K_D0_B2 35,2 0 K_20_ZE(-2 .00,-8.81)

W_20_ 135 40 42 3Z) k_10_37(8.59,3.45)

W_20_Z7(= 15,77 4 50 K_5_5(-0 58 .2 33F)

k_20_ZB-2.70..0.21) k_5_27(-0.09,.522)

k_ 10305 80 . 2 8) k_2_B{-F 77 3 0Z)

W_ A0 _F (1 88 4310 W_2_ VB8 3 a0y

D RS PR 5] b2 S 02 )

b8 _A3-3TH.-2 8 b 08 2 18

kS _1400.81.-1.87) k1 _10G-2.851.-3.67)

S _ 20 09,2 A K_1_S1(-8.52 -3 50)

WS S0y 62,2 a9

W_5_37(-0.07 .5.39)

K_Z_8.52 +8.13)

k_Z_ 188 80,3 380

h_2 35042 290

W _WRER 3

B 1S a0 30

BT 822 88
7L InterpaStien Ty e o <3 106300 2 T3 It roe pil-1 .22 - 12 B8 TRHEC100. 60 595 TRH: @, 100,10
CURES 242) SR ISS02, ) PAE0A82_ ) =N-0.080.58) VALLIS 28 2 WALCHE_ 100,30
wed_S0E_30 el AEERSE. )il Ly 20T 095 P00 82 <00 PTE. 70,70
Sinni_TRN: 77 TR, 0T 258 5
Ginni_WVAL: 28 #1131 124,.) 13,02 ,-2 68)
Ginni__FT: 74 BI04, 15 B2, TZ)

SISEIRISE, ) L2003 B2,3.27)

FAT1Z8070,.) EZT(-2.405 -2 B89)

IR 104001 ) 213502 BO)

A AZA230,. N FRO(-4.31 .3 .20)

2 NWIIZ053 ) P304 2 8

=2ER0408 3.0 HR-4.87 237
7, 1, Interpuaiatimn Ietareapk-4.01,-8.33) Intwrey pi-3.05.-11.29) TRH{100.83.82) TRH:IE1.80,87)
(109,89, 242) ka0 _162.234,.3.92) k_a0_1¢:0.79,.23.02) VAL 100,78 T8 WAL A% )
E_AIC_40 ka0 _ 1248 .52.3 55 k_A0_ZT14.58.3.12) FTa100,8887) FT{13.72.80)
Sinni_TRN: 85 a0 _3720004,7 360 30 _a00.78,.2.81)
Ginni_WAL: 80 W_B0_13(-1,00,.2 38) k_Z0_34(-1.94,.7 58)
Sinni__FT: 84 b0 _ 182 .62 2 880 k_20_B2.11.2.11)

k_30_ZEB(-0.82 -2 B8) k_20_ZE(:0 87 -5.90)

b0 _ 2402 10,8 800 k30 _2700 42437

h_0 B2 352 8 k_20_Z8(-2.00.-8.81)

k_B0 138 40,2 32
k_20_37(- 15,77 -3.80)
b _ B2 0 0.31)
k_10_300-5.80,.2 B4
A0 _ 21 8 431
K_S_5(-1.21,-3.35)
S _THRTE 2 A
k_S_140-0.01,-1.87)
k8280099 -2 S3)
k_&_3005 52,2 400
_S_ET(0AT 8360
K_Z_8{-4.52,313)
2 _ TR0 e 0 )
K_Z_31(5.04,2 79
b__ 1032 .18
_A_10¢-2.44,.3 31)
K_ BT B2 2 85

k10370303 45)
k_S5_5(-0.58,2 33)
S _AF(0.08 .5.22)
k_Z_B-7.77 -3 82)
k2128 .2 el
k_Z_31(5.18.2 B3)
b1 08 2 18)
K_1_10{:Z2.51,387)
k_1_210-8.82 -3.50)



/

/

38, M, Moeglichkeiten
(263,228,251
h_XMISC_40
Ginni_TRHN: 79
Ginni_WAL: 77
Ginni__FT: 79

28, M, Moeglichkeiten
(263,828,351
pc_SBC_40
Ginni_TRM: 73
Ginni_WAL: 75
Ginni_ FT: 72

38, W, Moeglichkeiten
(263,223,251
poe_*hMISC_40
Ginni_TRM: 80
Ginni_WAL: 74
Ginni__FT: 79

Interceph-2.86,-7.72)
k_40_44-0.80,-3.26)
b_A0_170-1.28 -4.01)
k_A0_19(2 60, 4.407
k_A0_217-0 60 ,-2.63)
k_A0_2701.92.2.62)
b_A0_22010.28.5.67)
b_30_G066.2.71)
k_30_150-0.72,-2.13)
k_30_28-2.20,-3.51)
k_30_370-1.88 -6.26)
k_20_2603.02,3.78)
k_20_387.20,3.13)
k_10_120-0.45 -1 .56)
k_10_360-1.63 ,-4.48)
b_10_380-5.02 -2.82)
k_G_38(5.12.-4.04
k_Z_28(2.07.2.88)
k_1_18(-3.01,-2.95)
k_1_26(-3.18,-3.02)
b_1_27-3.18,-3.13)

Interceph-1.43,-2.92)
pC_5_31.16,2.59)
pC_11_2(1883.7h
pC_14_201.82.2.16)
pC_14_G10.64.2.52)
pC_1G_1(-0.26,-2.42)
pC_AT_A-0.28,-4.38)
pC_19_100.31,4.28)
pC_19_2(-1.02,-4.00)
pC_256_50-4.05,-2.75)
pC_27_2-1.24,-4.36)
pC_27_<H3.01,4.20)
pC_28_A-0A17,-2.81)
pC_28_2(2.28,3.07)
pC_20_FE-d 14,2 a0)
pC_25_S(5.89.2.71)
pC_36_1(-0.496,-5.72)
pC_ET_A(-0.92,-7.01)
pC_28_1(2.70.11.62)
pC_28_2-7.53,-0.84
pC_28_3010.324,56.70)

Interceph-1.70,-8.75)
pC_G_1(0.24.2.42)
pC_2_ 2212201
pC_g2_4{1.922.55)
pC_8_AB-3.24.272
pC_10_2(1.47 3.45)
pC_11_2(1.78 2.08)
pC_14_201.23.2.200
pC_14_G015.74.4.65)
pC_14_F17 76,-3.20)
pC_15_1(-0.44,-4.55)
pC_17_A¢-0.28,-4.60)
pC_19_100.52 5.268)
pC_19_2(:-1.20,-437)
pC_22_20-1.71,-32 65)
pC_24_5-5.14,-2 86)

Intercept-2.94,-8.92)
b_40_50-0.44,-2.67)
h_A0_19r3.22 6.12)
bk _A0_240-4.10,-3.27)
h_A0_Z80-0.78,-6.14)
b_A0_325801.15.6.28)
h_A0_3e014.28.11.723)
h_20_Gi0.47 2.868)
h_30_120-0.95,-2.26)
k_30_360-1.35,-5.65)
h_20_170-2.12,-5.53)
k_20_241r3.58.2.74
k_20_26(2.33,3.50)
k_Z0_370-1.82,-7.78)
k_10_380-4.05,-2.52)
h_G_00-0.65,-2.62)
k_5_220-5.02.-3.90)0
b_1_150-0.94,-4.11)
h_1_180-3.33,-3.43)
k_1_2f-2 65 ,-2.92)

Intercept-1.19,-9.907
pC_A8_1(-0.31,-5.19)
pC_AT_1(-0.26,-4.75)
pC_19_100.40.6.15)
pC_19_2(-1.04-4.21)
pC_22_2(-1.02,-3.25)
pC_24 &(-7.54,-3.79)
pC_27_2(-065,-3.03)
pC_27_2.65,4.60)
pC_28_1(-0.12.-2.94N
pC_32_-2.45,-2.70)
pC_33_T(-8.49,-2.81
pC_36_1(-0.34,-5.3%
pC_G7_A(-0.77,-7.858)
pC_38_ 102 24,13 8d)
pC_28_2(-6.26,-11.26)
pC_38_3(10005.17)

Intercept-1.24,-9.72)
pC_S_201.51.291
pC_S_GB(7 AT 2ZET)
pC_G_100.20,2.06)
pC_8_4{1.16,2.04
pC_14_T-11.45,-272)
pC_15_1:-0.24.-5.42)
pC_17_1:-0.32,-4.05)
pC_19_1(0.26,5.26)
pC_19_2>-1.06,-3.42)
pC_22_20-1.12-2.22)
pC_24 5-7.20,-2.30)
pC_26_100.18,2.70)
pC_26_2-092.-2.07)
pC_27_2-064-2.78)
pC_27_42.29,3 66)

TRN:{100,84,82) TRN:30,8587)
WVAL00,52 75 WAL(30,81,84
FT:(100,84.8% FT:018.83.8%

TRN:(100,82,79) TRH:(22,86,80)
WAL100 569 52) WAL 51.82)
FT:(100,79,76) FT:(1%:82.81)

TRN:(100,88.84) TRH:(35,85.89)
WVAL100, 24,549 WAL(E0.6767)
FT:(100.77.75) FT:(15.92.94)
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